
GFN1664K-E
GFN1664K-U

www.bostitch.eu

For use with gas tool manual FT71696-45.

Parts_Chart_Draft:Layout 1  9/3/10  21:06  Page 3



GFN1664K Parts List: IP1308-2REVA-EU

To be Used with tool parts illustration: FT71645-47

and operation and maintenance manual: FT71645-45

Serial Number on the Tool: Serial No. Q300001

ITEM PART # DESCRIPTION ITEM PART # DESCRIPTION
1A 9R192230 FILTER COVER 55 9R192359 FRAME PROTECTOR
2 9R192231 FILTER MESH 56 9R192282 CELL PIN
3 9R192232 HX. SKT HD. BT (W/FLG) M5X10 57 9R192283 PIPE RUBBER

4A 9R192353 TOP COVER 58 9R192284 ACTUATOR
5 9R192234 SPARK PLUG (A) 59 9R192273 SLF T/S  (W/FLG) D4X20 (BK)
6 9R192235 NYLOCK HX. SKT HD. BT M4X12 60A 9B12070R-EU BATTERY EBM 315 (EU)

7A 9R192236 CYLINDER HEAD 61 9R192286 SUPPORT (B)
8 9R192237 NUT M3 62 9R192287 HARNESS, WIRE
9 9R192238 SPRING WHR M3 63 9R192288 WHR M4 

10 9R192239 WHR M3 64 9R192289 MACHINE SCW M4X10
11 9R192240 FAN 65 9R192290 LOCK NUT M4 (BK)
12 9R192241 RUBBER PLATE 66 9R192331 O-RING 
13 9R192242 HX. SKT HD. BT M4X16 67 9R192312 HOOK
14 9R192243 CHAMBER HEAD 68A 9R192313 WHR
15 9R192244 GASKET 69A 9R192314 TRUSS HD. SCW M4X25 (BK)
16 9R192245 CHAMBER 70A 9R192358 HANDLE (A)
17 9R192246 PISTON RING (B) 71 9R192292 TERMINAL SUPPORT
18 9R192247 RETAINING RING FOR D40 HOLE 72 9R192298 TRIGGER STOPPER ASS'Y

19A 9R192254 MOTOR ASS'Y 73 9R192294 TRIGGER
20 9R192248 PACKING 74 9R192293 TRIGGER SPRING
21 9R192249 ADAPTER 75 9R192296 CORD COVER PLATE
22 9R192250 HX. SKT SET SCW M4X5 76 9R192297 CHAMBER SPRING
23 9R192251 SHAFT RUBBER WHR 77 9R192299 SEAL LOCK HX. SKT HD. BT M4X10

24A 9R192252 SHAFT COVER 78 9R192295 PIN D3X20
25 9R192255 PISTON RING (A) 79 9R192300 PUSHING LEVER ARM
26 9R192149 PISTON 80A 9R192301 PUSHING LEVER PIECE
27 9R192257 PISTON BUMPER 81 9R192302 O-RING (S-8)
28 FT71695-16 PRODUCT LABEL 82 9R192375 ADJUSTER

29A 9R192162 HOUSING 83 9R192304 RATCHET SPRING
30 9R192167 PIN 84 9R192260 PUSHING LEVER (A)
31 9R192173 BLADE GUIDE 85 FT71695-12 MAG. WARNING LABEL.
32 9R192262 SEAL LK HX. SKT HD. BT M4X12 86 FT71695-11 MAG. BATTERY LABEL
33 9R192174 LOCK PLATE 87 FT71695-10 WARNING LABEL
34 9R192204 LOCK LEVER COVER 88 9R192263 MAGAZINE COVER
35 9R192267 ROLL PIN D3X16 89 9R192310 BT WHR M5
36 9R192213 LOCK LEVER 90 9R192311 MACHINE SCW M5X15 (BK)
37 9R192261 ROLL PIN D3X16 91 9R192261 ROLL PIN D3X16 
38 9R192233 LOCK SPRING 92 9R192316 RIBBON SPRING
39 9R192256 GUIDE PLATE 93 9R192363 NAIL FEEDER (B)
40 9R192253 HX. SHOULDER BT M5 94 9R192321 PRISM
41 9R192274 SEAL LOCK HX. SKT HD. BT M4X8 95 9R192322 CONTROLLER
42 9R192275 CONICAL SPRING H8 96 9R192323 SLF T/S  (W/FLG) D4X12 (BK)
43 9R192276 BUFFER COVER 97 9R192324 NAIL RAIL
44 9R192277 MUFFLER 98 9R192325 PUSHING SPRING
45 9R192278 REED VALVE 99 9R192326 NAIL FEEDER (A)
46 9R192279 BUFFER PLATE 100 9R192327 ROLL PIN  D2.5X26
47 9R192280 O-RING 101 9R192328 MAGAZINE
48 9R192281 MESH 102A 9R192329 CYLINDER ASS'Y (A)
49 9R192267 SLF T/S  (W/FLG) D4X16 (BK) 104 9R192352 SHAFT WHR

50A 9R192357 HANDLE (B) 105 9R192330 CYLINDER HEAD ASS'Y
51 9R192269 HX. SHOULDER BT M4X32

52A 9R192258 CYLINDER
53 9R192270 CHAMBER STOP RUBBER
54 9R192271 NYLON NUT M5

STANDARD ACCESSORIES
501a 9B12071R-E EU CHARGER (MODEL UC 3SML)
501b 9B12071R-U UK CHARGER (MODEL UC 3SML)
503 106167 HEX. BAR WRENCH 3MM
504 166038 HEX. BAR WRENCH 4MM
505 9R192333 SOFT FOOT
506 9R192364 CASE
507 SB-20CL LUBRICANT OILER
508 FT71695-45 CORDLESS GAS NAILER MANUAL
509 FT71695-47 MANUAL ILLUSTRATIONS



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /PDFX1a:2003
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




